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Section A

Answer any five out of eight questions.
Each question carries a weight of 1.

Whaf do you mean by preferential creditors ?

What is meant by consolidation and subdivision of shares ?

Define amalgamation and external reconstruction.

Discuss the ‘Doctrine of Reputed Ownership’.

Differentiate between purchased goodwill and non purchased goodwill.

What do you mean by purchase consideration ? Explain the ‘Net Payment Method'.
What do you mean by dissenting shareholders ?

Write a note on Capital Reduction Account.

(5 X]1l= 5)
Section B

Answer any five out of eight questions.
Each question carries a weight of 2.

Explain the difference between a statement of affairs and a balance sheet.
Explain the need for valuation of shares arises.
How do you treat the inter company unrealized profit in amalgamation ?

What is purchase consideration ? Explain the various methods of calculating purchase consideration.

The following scheme of reconstruction has been approved for B Ltd. :—

(a) The shareholders to receive in lieu of their present holding of 50,000 shares of Rs. 10
each, the following :

(i) Fully paid equity shares equal to 2/5'! of their holding ;
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()10 % Preference shares, fully paid, to the extent of 1/6t of the above new equity

shares ; and

0

didd Rs. 50,000, 14 % Second Debentures.

(B An issue of Rs. 50,000, 12 % First Debentures was made and allotted, payment for the

same being received in cash forthwith.

) Goodwill which stood at Rs. 1,560,000 was completely written oft.
«d} Plant and Machinery which stood at Rs. 1,00,000 was written down to Rs. 75,000.

(e} Frechold and Leasehold Premises which stood at Rs. 1,75,000 were written down to

Rs. 1,50,000.

Give journal entries in the books of the company necessitated by the above reconstruction.

X Ltd. has I0,000‘Equit_v shares of Rs. 10 each, Rs. § paid and 1,00,000, 6 % Preference shares of
Rs. 10 each fully paid. The company has a practice of transferring 20 % p.f. profit to General
Reserve every year. If the expected profit (based on past years performance) before tax is
Rs. 2,00,000 and the rate of tax is 50% You are required to calculate the value of Equity shares

under yield method, it may be assumed that normal rate of dividend is 20 .

Ascertain the value of goodwill of P Ltd. carrying on business as Retail traders, from the following

information :(—

Balance Sheet as on 31/12/1998

G 2085

Rs. Rs.

Paid up Capital : Goodwill 25,000

2500 share of Rs. 100 each 2,50,000 | Land and Buildings at cost 1,10,000
Profit and Loss Account 56,650 | Plant and Machinery less

Bank O.D. 58,350 depreciation 1,00,000

Sundry Creditors | 90,500 | Stock at cost 1,50,000

Provision for taxation 19,500 | Book debts less Prov. for
doubtful debts 90,000
4,75,000 4,75,000
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The Company commenced operations in 1994 with a paid up capital as aforesaid with
Rs. 2,60,000. The profit earned beforo providing for taxation having been as :
1994 61,000 1997 w. 178,000
1995 v 64,000 1998 .. 86,000
1996 we 71,600

You may assume that income tax @ 50 % have been payable on these profits. The Average dividend
paid by the company for the 4 years is 10 %, which is taken as reasonable return expected on the
capital invested in the business.

The following is the Balance Sheet of Bhart Co., Ltd., as on 31.12.2012.

Liabilities Rs. Assets Rs.
Share Capital : Goodwill 50,000
Equity share of B;xilding 1,50,000

Rs. 10 each 1,00,000 | Plant : 1,00,000
12 % Pref. Shares of Investment in 10 % stock

Rs. 100 each 1,00,000 (Mérket value Rs. 5’2,000
General Reserve Q0,000 Nominal value Rs. 50,000) 48,000
Profit and Loss A/C 40,000 | Stock 60,000
15 % Debentures 1,00,000 | Debtors 40,000
Creditors _ ) ' 80,000 | Cash 10,000

. Preliminary Expenses 22,000
4,80,000 4,80,000

Ascertain the value of each equity share under Fair Value Method on the basis of the information

given below :
Assets are revalued as follows :
Building Rs. 3,20,000 ; Plant Rs. 1,80,000 ; Stock Rs. 45,000 and Debtors Rs. 36,000.

Average profit of the company is Rs. 1,20,000 and 12.5 % of profit is transferred to general
reserve, rate of taxation being 50 %: Normal dividend expected on equity shares is 8 %. Fair

return on capital employed is 10 %.

Goodwill may be valued at 3 years purchase of super profits.
(6 x2=10)
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Section C

Answer any three out of six questions.
Each question carries a weight of 5.

17. Following is the Balance Sheet of X Ltd. as on 31t March, 2010

Rs. Rs.
Share capital : Fixed Assets 4,00,000
6 % Preference shares of Current Assets 2,48,000
Rs. 10 each fully Preliminary expenses 10,000
paid 2,00,000 | Unwritten of discount 5,000
Equity shares of Rs. 10 Profit and Loss Account 27,000
each fully paid 3,00,000
General Reserve 5,000
Debenture Redumption
fund 25,000
Investment fluctuation fund 10,000
5 % debenture 50,000 A \
Depreciation fund 10,000
Sundry Creditors ‘ 90,000
6,90,000 6,90,000

Current Assets include investments Rs. 50,000 market price of which is Rs. 48,000. Debetors
included in current Assets are doubtful to the extent of Rs. 5,000 for which no provision

has been made so far.

Stock at the end did not include a return of Rs. 1,000 though transaction was prc;perly
recorded and posted. :

Debenture interest is owing for 1 year and preference dividends are in arrear for 2 years.
Assuming other items are worth book value. You are required to value the shares if :
Preference Shares have priority over the payment of capital and arrears of dividend in
the event of liquidation takes place.

(b) Preference shares have no priority on capital and payment of dividend.

(a)

(¢) Preference shares have priority on to the payment of capital only.

(d) Preference share have priority onto the payment of arrears of dividend only.
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18, The balance sheots of X Ltd. and Y, Ltd. s on 31% March, 2010 ware as follows :—

(Rs. in thousands)

Liabilitics XL | YLtd. Assets XItd. | YItd.
Rs. | Rs. Rs. | Rs.
Share capital ; Goodwill 70
5,000 Preference Share of Patents 200
Rs. 100 cach 500 Land and Buildings 600
1,60,000 Equity Shares of Planpt and Machinery 1,660
Rs. 10 each 1500 - Motor Vehicles 40
40,000 Equity Shares of Furniture 25
Rs. 10 each 400 | Investments 115
2000 400
General Reserve 800 Stocks | 350 | 239
Profit and Loés Account 90 32 |Debtors . 80 62
Creditors 50 21 | Cash at Bank 45 17
2940 453 | - 2940 453

A new company, Z Ltd. was formed to acquire the assets and liabilities of X Ltd. and Y Ltd. The
terms of acquisition of business were as under :

(1) Z Ltd. to have an authorized capital of Rs. 35,00,000 divided into 5,000 13% preference
shares of Rs. 100 each and 3,00,000 equity shares of Rs. 10 each.

(ii) Business of X Ltd. valued at Rs. 30,00,000 settlement being Rs. 6,00,000 in cash and
balance by issue of fully-paid equity shares at Rs. 12.

(iii) Business of Y Ltd. valued at Rs. 4,80,000 to be satisfied by issue of fully-paid equity
shares at Rs. 12. ‘

(iv) Preference shares of X Ltd. were redeemed.

(v) Z1Ltd. made a public issue of 3,000 preference shares at par and 30,000 equity shares at
Rs. 12. The issue was underwritten at the commission allowed by law and was fully
subscribed. All obligations were met.

(vi) Manu, who mooted the scheme, was allotted 4,000 equity shares (fully-paid) at Rs. 12 in
consideration of his services.

Make journal entries in the books of X Ltd. and Y Ltd. (to close their books of accounts) and

prepare important ledger accounts on the assumption that amalgamation is in the nature of

purchase.
Turn over
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19. The financial position of Hindustan Co., Limited on 31st March, 2009 is summarised.
Rs. Rs.
Share Capital : Freeholds Property 34,000
Authorised, Issued and Fully Plant 96,000
Called up : , Tools & Dies - + 27,300
15,000 Equity Shares 1,560,000 | Investments 15,000
10,000 6 % Pref. Shares 1,00,000 | Stocks 42,500
7 % Secured Debentures 60,000 | Debtors 58,400
Accrued Interest thereon 4,200 |[Rand D Expenditure.‘ 18,000
Loan (Secured) 20,000 | Profit and Loss Account 98,000
" Creditors 50,000
3,84,200° 3,84,200

The Scheme of organisation detailed below is agreed and approved by Court.

(a)
(b)

(c)

(d)

(e)
€3]

Land at book value of Rs. 6,000 and valued at Rs. 14,000 is taken over by debenture
holders in part payment. The remaining property is valued at Rs. 40,000. '

The investment valued at Rs. 22,000 to be taken over by Loan Creditors, Rs. 2,000 is

refunded to company.

The Creditor for Rs. 18,000 has agreed to accept new Second Mortage Debentures carrying
interest @ 10 % p.a. in settlement of Rs. 15,500. Another creditor for Rs. 10,000 agrees to
accept cash at a discount of 15%. ‘

The Equity shares are to be written down to Re. 1 per share and Preference shares to
Rs. 8 per share. '

The cost of Scheme amounting Rs. 3,500 to be paid and written off.

Equity shareholders to subscribe and pay for two new shms of Re. 1 each for every

one share held.

The scheme of organisation detailed above is agreed and approved by the Court.

(g) Assets to be revalued at : Plant Rs. 59,000 ; Tools & Dies Rs. 15,000 ; Stock Rs. 30,000 ;
Debtors Rs. 48,700. R & D. Expense and Profit and Loss Account to be written off,

' You are required to show the Journal entries, Reorganisation A/c, Bank A/c and resultant Balance

Sheet.
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20. On 31* December 2010 Anil’s assets and liabilities as per books amount to Rs. 60,000 and

Rs. 45,000 he estimated his deficiency to be Rs. 20,000. He found subsequently that the following
had not been taken into account. -

(a) Interest on his capital of Rs. 30,000 @ 6 % for one year.

(b) Liability on bills dlscounted amounting in all to Rs. 10,000, out of which Rs. 3,000 was
expected to be dlshonoured
(c) Salaries Rs. 1 400 wages Rs. 500 and rent to landlord for the month Rs. 150,

" Prepare Anil's Statement of Affairs and Deficiency Account.
21,

Balance Sheets of M Ltd, and N Ltd. are given below as at 31st March, 2010.

* Liabilities MLtd. | NLtd. | Assets MLtd. | NLtd.
Share Capital (Rs. 10) |2,00,000 4,00,000 | Sundry Assets |
Reserve and Surplus 40,000 {1,00,000 | (no Goodwill) 3,10,000 | 6,00,000
7% Debentures (Rs. 100)1,00,000 | - Loan of N Ltd. 30,000
Loan from M Ltd. . | 30,000 | Investments :

Other Liabilities 50,000- 70,000 | 5,000 shares in N Ltd] - 50,000
| 3,90,000 [6,00,000| - - 3,90,000 | 6,00,000

N Ltd. takeover M Ltd. on the following terms :

(a) N Ltd. will issue sufﬁclent number of shares at Rs 11 each and pay 50 paise in cash per.
share held by members of M Ltd.

(b) 7 % Debentures of M Ltd. are taken over by N Ltd. along with other liabilities of M Ltd.

Show journal entries and significant ledger accounts in the books of both the companies. Also draft
balance sheet of N Ltd. after absorption.
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8
929. Roshan Lal finds himself insolvent on 31st December, 2005. His position was as follows :
Rs.
Sundry Debtors - Good, Rs. 5,000 ; Doubtful, Rs. 30,000 ' é,,!
(estimated to produce Rs. 25,000) ; Bad Rs. 15,000; é
1,000 shares in A Co. Ltd. (estimated to produce Rs. 15,000) 25,000 ’ ’%
Shares in B Co. Ltd. (estimated to produce Rs, 75,000) ' 91,500 §
Loss through betting ' 2,000 4
Creditors on open account 85,600 ﬁé
Creditors holding a second charge on the shares of B Co. Lid. to the
extent of Rs. 25,000 . g 30,000
Creditors holding a first charge on the shares of B Co. Ltd. 40,000
Bills Payable ) ‘ 4,000
Creditors for Rent, Rates, Taxes, ett. (of which Rs. 4,600 are

preferential) . 5,000
Furniture and Fixtures (estimated to produte Rs. 3,000 15,000
Cash in hand and at Bank 550
Stock in trade (estimated to realise Rs. 80,450) 35,950
Bills Receivable (estimated to realise Rs. 7,000) 9,000

Roshan Lal started with a capital of Rs. 70,000 on 15t January, 2003 and the business resulted in
a profit of Rs. 8,900 and Rs. 10,000 for the first two years respectively and in a loss of Rs. 5,000 for
the third year, after allowing Rs. 3,500 as interest on capital each year. Withdrawals for the whole

period amounted to Rs. 30,000.

Prepare a Statement of Affairs and Deficiency Account.
‘ | (3 x 5=15)
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